) sSHIMADZU

Excellence in Science

PPL PPH Series power package

oA FT% Model number

PPL 3 BUE ID 2 L
O 6 6 0 6 0

XXX Q
O O

0 Y)-—2% @ Series
PPL PPL
PPH PPH

O K>TH4A X (cm®)
0.8,1.7,2.5,3,3.5,5, 7cm*(PPLY U — X)
0.8,1.7cm®*(PPHY 1) — X)

© [ERES
=TS

O EWASBE(PPLY ) — X, BEATOREED A RIR)

@ Pump displacement (cm?®)
0.8,1.7,2.5, 3, 3.5, 5, 7cm®(PPL Series)
0.8, 1.7cm®(PPH Series)

® Circuit symbol
See“next page”

© Solenoid valve voltage,when applied only (PPL Series)

1D:DC12V 1D:DC12V
2D : DC24V 2D : DC24V
1A : AC100V 1A : AC100V
2A : AC200V 2A : AC200V
O 2 785 © Reservoir code
PPLY—X PPL Series
2255 HmE (L) B3hmE(L) Reservoir code | Oil supply capacity(£) | Effective oil (£)
1 1.6 1.3 1 1.6 1.3
2 2 1.6 2 2 1.6
3 3 2.3 3 3 2.3
4 4 3 4 4 3
PPHY ) =X PPH Series
2 URE HmE(2) ExhHE(L) Reservoir code | Oil supply capacity(£) | Effective oil (£)
0.5 0.6 0.5 0.5 0.6 0.5
0 #igH > H-EEEHE © Rotation viewing from shaft end
L : REFET AR EER L : counter clockwise
R: BEtAMEER R : clockwise
@ 21— rES @ Code number
T34 & & FR/R (Mt iC THRE) In 3 figures given by our factory.
0O VY-JFERS © Relief pressure code
B:29(MPa) G: 7.8(MPa) P:127(MPa) U:17.2(MPa) B:29(MPa) G: 7.8(MPa) P:127(MPa) U:17.2(MPa)
C:39(MPa) H: 88(MPa) Q:13.7(MPa) C:39(MPa) H: 88(MPa) Q:13.7(MPa)
D: 4.9(MPa) J: 9.8(MPa) R:14.7(MPa) D: 4.9(MPa) J: 9.8(MPa) R:14.7(MPa)
E: 5.9(MPa) L:10.8(MPa) S:15.7(MPa) E: 5.9(MPa) L:10.8(MPa) S:15.7(MPa)
F:69(MPa) M:11.8(MPa) T:16.7(MPa) F:6.9(MPa) M:11.8(MPa) T:16.7(MPa)




) sSHIMADZU

Excellence in Science

®[zicS  Circuit symbol

PPL, PPH ec pove sacan

"ac]

ﬁﬁg

CFD

BATP

BUE

CUE

B

"L

A

XFS

A B
[IH]

1@

E AC.AA.— PPL.PPH> U —-X

Z DAt

‘PPLY ) =X

Note : AC, AA, — :PPL, PPH Series

Others

:PPL Series

@1t#k Specifications

E#x%  Speed min”

B st L0 B ERBES
Displacement Rated pressure 25 max
et om’ MPa Sl AC, AR, AM, AN (O, BT, G7E, B3, BUE,
PPL, PPH 0.8 0.77 750
PPL, PPH 1.7 1.66 4000
PPL 2.5 2.43 (3000) (gggg)
PPL 3 3.07 17.2 500
PPL 3.5 3.46 3500
PPL 5 4.99 2400 3000
PPL 7 7.04 1800 2100

E
Note : ( ) PPH Series

JARIEBPPHY Y —XDHEERT,




ESHIIMADZU P P L P P H
5 Series power package

@tteediE Performance curves
ISO VG32 Hydraulic Fluid at 40°C

PPL0.8 PPL1.7
2 PPHO0.8 R PPH1.7
5 100 T S 100
& 3.4MPa | g 34MPa | | -
2 . [— o & % —| 17.2MPa w
3} Q
8 ol s 17.2MPa 8 ol s
® 60 7 5 60
£ 50 = 5
5} Q
: £ ¢ 2 ;
3 3 =z
e O 2 S - o f 4 _
z £ X E 3 £
Hm = = = > I~
/ = = 2 ) Q =
s ! N R 2 I N =
— o “\Q’b > & H 'LQ ! 92 &
i % o~ E & ) &
H X Al 1 1 A0 o
H N\\"A = m
H o3 1
) v Pa
° v 3 AWPE— ° 3
— 0 — 0
0 500 1000 1500 2000 2500 3000 3500 4000 0 500 1000 1500 2000 2500 3000 3500 4000
[EEs# (min~") Speed [E#% (min~") Speed
3 PPL 2.5 2 PPL 3
= 100 < 100
L T e T T
9; 90 — : - e; 90 = o S W 7
g . {/‘ 17.2MPa S ol Lk 17.2MPa
(<) (3}
S 70l10 3.4MPa 3 10 3.4MPa
o o 10
B g 8 3 o )
E 8 3 4 E = 3 6
e = 6 = S u_c.
= ES B T 6 5
RS £ R E > =
m = 4 N WK = B S b‘@Q a
I AR D S o= 4 AR > 4 £
A, 0 < < 1 oy I s
H A R H N N =
,}’\\\?'a 2 & H 2 | 3 5
0 AQ; i N\?a &
S o T 2 B
=
_A‘\,\Pa 1 ‘ LN
\ 2 v 4 ANP2 ;
/
— . 1 0
0 500 1000 1500 2000 2500 3000 3500 4000 0 500 1000 1500 2000 2500 3000 3500 4000
i (min~") Speed [E## (min~") Speed




ESHIIMADZU P P L P P H
o Series power package

@4eEthiE Performance curves
ISO VG32 Hydraulic Fluid at 40°C

R PPL 3.5 R PPL 5
> 90— ———— > 90 L ——"17.2MPa
g SOE ZV 17.24Pa i g 8°E 7;4MP =
z 3.4MPa 2 -4AMPa
S 12 2 20
5 5
Q e o
5 o 10 g =
S <] o3
E = 6 S~
s 2 S T
S @ 8 > £
M = 5 i) £ 10 10
@ = AR Q2 4 £ w« B > E
S ":, Q @ = S Ee| A. g_
W, N Ny S E ° £
H Y pd = = =
= i 3 R 02 =
N\ O\ =3
2 '\W o 0 gy P2 ° R
\ \ 2 % 203V @
0 P2
/ 3.4\\1\/ ] v [ — 3A‘N\Pa i
/ /
0 0
0 500 1000 1500 2000 2500 3000 3500 4000 0 500 1000 1500 2000 2500 3000 3500 4000
[@#5#% (min~") Speed @ (min~") Speed
R PPL 7
§100 30 T
& ———
= 90E 7 17.2MPa v
Q
& % 3.4MPa
©
5
L o
D % 20
El 5 12
g T
M E > 10
® 2 b§2Q®
% ﬂ"&” 10 ‘\/\r}@ 'L“\Q% s 3
H \“‘/ g
‘N\?a 6 ;;:
402 =
4 R
P2 @
0 AW
> — = <l 2 &
0 500 1000 1500 2000 2500 3000 3500 4000
E## (min~") Speed




ESHIIMADZU P P L P P H
) Series power package

®sX  Qutline dimensions

—PPLLIAC

BEI32 755 [2]DiEAERLTWET, Figures of mass correspond to [2] of reservoir code.

BA—h Ro1/4 AK—h Rc1/4 [T
(JIS B 0203) (JIS B 0203) B

B port Rci/4 16 416 A port Ri/4

(JIS B 0203) (JIS B 0203)

I
I
A

[

NARIVEf RS ©
M10X1.5 215 L&,
(JIS B 0205)
Handle mounting screw
M10x1.5 15depth L
(JIS B 0205) pS L 7 EROTY—H
20° |_20° G3/4(JIS B 0202)

EEO0YULY P24(JIS B 2401)
Oil inlet breather
G3/4(JIS B 0202)

0-ring P24(JIS B 2401)

7% —5x5x18

Straight key 5x5x18
rics
o
- - — I 9
% M10x1.5812 l
(JIS B 0205)
M10x1.5 12depth I
(JIS B 0205)
YU=7% j
Relief valve 39
4-M8X1.25 B16 05 f | /1] 40:08
(JIS B 0205) | 385
e =
4-M8X1.25 16depth 42 L+5
(JIS B 0205) SV
. (Mounting screw) KL o55 Ra/8 E = 1 2 3 4
(JI1S B 0205) (JIS B 0203) Reservoir code
[CRESZN) AARFT ST ZEiEs
4-M8X1.25 16depth Drain plug R3/8 L 195 245 312 375
ms B 0205) ) (JIS B 0203)
. ounting screw; = Hexagon socket head plug 8HEX
unit:mm EE Mass 4.5kg 0 0 D 138 140
BH—h Ro1/4 AK—k Rc1/4 A
(JIS B 0203) (JIS B 0203)
B port Rel/4 16 416 Aport Ro1/d
(IS B 0203) (JIS B 0203)
]
I — 7— 13
T
B
3

1 EAOTY—Y

g G1/2(JIS B 0202)
EA0Y-Y P18(JIS B 2401)
Oil inlet breather
G1/2(JIS B 0202)
0-ring P18(JIS B 2401)

FIT¥—5x5x18
Straight key 5x5x18

53

:

M10x1.5%R12
(JIS B 0205)

e

M10x1.5 12depth
(JIS B 0205) )
-5 25 o
B Relief valve
4-M8X1.25 16 0:£0.2
= 1 (JIS B 0205) = 2o
_ 108:0.2 S (BUfF3I7R) 19.5 55.5 80

4-M8X1.25 16depth
(JIS B 0205)
(Mounting screw)

unit:mm BE Mass 2.4kg

HRat BRRERT 7V T 7 AHIRER

HMABRBLORISHR Do FEREETDIEDNBYETDTTTHELIZEL,



	PPL,PPHシリーズ_0131_最終.pdf

